Tonomura et al., PRL (386
Brog phuse:
$$y_{1}(A) = \int dt' \langle y_{1}(H) | i \vartheta_{1} | y_{1}(H) \rangle$$

the $H = H(\lambda(H))$, $i + H(\lambda(H)) | y_{1}(\lambda(H)) \rangle = E_{1}(\lambda(H)) | y_{1}(\lambda(H)) \rangle$
 $i \vartheta_{1} = \lambda i \vartheta_{2}$
 $\Im(H)$
 $i \vartheta_{2} = -\lambda i \vartheta_{2}$
 $\Im(H)$
 $\Im(H)$

$$i \overrightarrow{\nabla}_{A} \psi_{S}(\vec{r}) = q \overrightarrow{A}(\overrightarrow{X}) e^{i \vec{\nabla}_{A}(\vec{r})} \psi_{*}(\vec{r}-\overrightarrow{X}) + e^{i \vec{\nabla}_{A}(\vec{r})} \underbrace{(i \overrightarrow{\nabla}_{A})}_{=-i \overrightarrow{P}_{A} \downarrow (\vec{r},\overrightarrow{X})} = -i \overrightarrow{P}_{A} \downarrow (\vec{r},\overrightarrow{X})}_{=-i \overrightarrow{P}_{A} \downarrow (\vec{r},\overrightarrow{X})} = -i \overrightarrow{P}_{A} \dotplus (\vec{r},\overrightarrow{X})}_{=-i \overrightarrow{P}_{A} \dotplus (\vec{r},\overrightarrow{X})} = -i \overrightarrow{P}_{A} \dotplus (\vec{r},\overrightarrow{X})}_{=-i \overrightarrow{P}_{A} \dotplus (\vec{r},\overrightarrow{X})} = -i \overrightarrow{P}_{A} \not{P}_{A} \vec{P}_{A} \vec{P}_{A}$$

$$\frac{del}{del} := \frac{1}{2} \frac{auge}{e_{i}} \frac{p \circ f}{e_{i}} \quad (i \ auclogy \ to \ EAL)$$

$$\cdot Hawiltoniau : H(A) , \ S: parameter
$$: i \ Stout. \ e' \ System : H(A) | in (A) > = E(A) | in (A) >$$

$$A_{A}(:) = i \ \partial_{A}(:)$$

$$\Rightarrow \circ H \cdot diag \ elements : in \neq m$$

$$C_{-}(a) | \ A_{A} | in (b) > = i \ \frac{C_{-}(A) | \partial_{A} H / in (b)}{E_{-}(a) - E_{m}(A)} \quad \forall m \neq m$$

$$\Rightarrow diag. \ elements :$$

$$C_{-}(A) | \ A_{A} | in (b) > = i \ (i \ A_{A} | in (b) > (i \ A_{A$$$$

=>
$$P_{A} HA = [A_{A}, HA] - i M_{A} / [H, ·]$$

[H, $iQ_{A} H] - [H, [A_{A}, H]] = -i [H, M_{A}] = 0$
[H, $iQ_{A} H) - [A_{A}, H]] = 0$
defining eq. for gauge pool. A
Counter-Diabatic Driving
recall L2 problem: $\pi \frac{L^{2}}{2V}$ $H(H) = \frac{Vt}{2} \sigma^{2} + \frac{1}{2} \sigma^{2}$
 $excited traction is
exponentially small but
 $p = 1 - e^{-\pi \frac{L^{2}}{2V}}$ is finite is depended on
 $h & 8^{V}$
issues: 1) perc increases if speed v increases
2) expression valid in the vegime to ∞
 $ubas about thinks times?
Q: can be suppress excite trons completely R
 $at all times during the rang?$
 $Yeal = transition less driving:
 $utal all times H(A)$ instantaneously, sie.
 $utal H(A) U(s) = (E(A), O)$
 $(b^{T} = E(A)) = D(A)$$$$

A sur B Monte C connectitute
Sels R Polleovuileon, PNAS 2017
mote: we achieve transionless driving for any
protocol 2(1)!
intrition cases:
a) i - > -> HeD = i Az
Schn. eq: iDt 14(1)) = HiD 14(1))

$$= iD_2/14(1) = HiD 14(1)$$

 $\Rightarrow iD_2/14(1) = A_2 14(1)$
as $j = r$, Az generales time-evo in λ -space
b) adiabatic limit: $j = 0$
time evo is generaled by H(A)
 $= HeD = H(A) + i Az$ interpolates b/w intrivitely
slow adiabatic evo R evo generaled by gonge pith

$$\frac{E \times \alpha \dots p | e^{-S}}{|} :$$
1) two-level system : $H(\lambda) = \Delta \sigma^{2} + \lambda(t) \sigma^{2}$
1) two-level system : $H(\lambda) = \Delta \sigma^{2} + \lambda(t) \sigma^{2}$
1) the set is use $\tilde{A} = U^{+} \partial_{A} U = U^{+} H(U - diag)$
1) use $\tilde{A} = U^{+} \partial_{A} U = U^{+} \partial_{A} U = U^{+} \partial_{A} U$
1) used $\tilde{A}_{A} = U^{+} \partial_{A} U_{A} = U^{+} \partial_{A} \varphi \frac{\sigma^{2}}{2} U = \frac{1}{2} \partial_{A} \varphi \frac{\sigma^{2}}{2}$
1) use $\tilde{A}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \frac{\Lambda}{2}$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \frac{\Lambda}{2}$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = 0$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = 0$
1) $\tilde{L}_{A} = \frac{1}{2} \frac{\Delta}{\Delta^{2} + \lambda^{2}} \sigma^{2} = \Lambda$
1) $\tilde{L}_{A} = 0$

iii) construct H_{eD} : $H_{eD}(\lambda(t)) = \Delta \sigma^{2} + \lambda(t) \sigma^{2} + \frac{\lambda}{2}(t) \frac{\Delta}{\Delta^{2} + \lambda^{2}(t)} \sigma^{2}$

2) particle in a noving harmonic potential

$$H(\lambda) = \frac{p^2}{2u} + \frac{1}{2} m \omega^2 (x - \lambda l + l)^2$$

 $H(\lambda) = \frac{p^2}{2u} + \frac{1}{2} m \omega^2 (x - \lambda l + l)^2$
 $\frac{1}{10}$
 $\frac{1}{10}$ the a frame to eliminate drive $\lambda l + l$ from harmonic potential
 $\Delta = e^{-i\lambda p}$ (non-entrine op. p generates trank this)
 $H_{\lambda} = e^{-i\lambda p}$ (non-entrine op. p generates trank this)
 $H_{\lambda} = e^{-i\lambda p}$ (non-entrine op. p generates trank this)
 $H_{\lambda} = e^{-i\lambda p}$ (non-entrine op. p generates trank this)
 $H_{\lambda} = e^{-i\lambda p}$ (non-entrine op. p generates trank this)
 $H_{\lambda} = e^{-i\lambda p}$ (non-entrine op. p generates trank this)
 $= \frac{p^2}{2u} + \frac{1}{2}m\omega^2 (x - \lambda)^2 / U_{\lambda} - \lambda U_{\lambda}^+ i\partial_{\lambda} U_{\lambda}$
 $= \frac{p^2}{2u} + \frac{1}{2}m\omega^2 x^2 - \lambda p$
 $= \omega (\hat{n} + \frac{1}{2}) - \lambda p$
 $\frac{1}{2} + \frac{1}{2}m \omega^2 x^2 - \lambda p$
 $= \omega (\hat{n} + \frac{1}{2}) - \lambda p$
 $\frac{1}{2} + \frac{1}{2}m \omega^2 x^2 - \lambda p$
 $= \frac{1}{2} + \frac{1}{2}m \omega^2 (x - \lambda l + \frac{1}{2})^2 + \lambda p$
 $= patential issue wort. experimental implementation:
 $-difficult to caple to p$
 $\Rightarrow apply gauge transfer to p $\Rightarrow p' = p + m\lambda$$$

=>
$$H_{c0}' = \frac{p'^2}{2u} + \frac{uw'}{2}(x' - \lambda(t))^2 - u\lambda'x' - \frac{w}{2}\lambda^2$$

all drives cample to position op:
-> con be realized in exp.
requirement: wont $p(0) - p'(0)$ $\lambda(0) - 0 = \lambda(T)$
 $p(T) = p'(T)$ $\int_{0}^{c0} \frac{\lambda(0)}{2} = 0 = \lambda(T)$
 $\lambda(t)$
 $\lambda(t)$